Conversion Hexadécimal en Décimal (H)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 1 2. Hexadécimal = 48
Décimal = Décimal =

3. Hexadécimal = 15C 4. Hexadécimal = 336
Décimal = Décimal =

2 Hexadécimal = 37B 0. Hexadécimal = 306
Décimal = Décimal =

7. Hexadécimal = D7 8 Hexadécimal = 2C0
Décimal = Décimal =

). Hexadécimal = 17B7 10. Hexadécimal = 87E
Décimal = Décimal =
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Conversion Hexadécimal en Décimal (H) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 1 2. Hexadécimal = 48
Décimal = 1 Décimal = 72

3. Hexadécimal = 15C 4. Hexadécimal = 336
Décimal = 348 Décimal = 822

2 Hexadécimal = 37B 0. Hexadécimal = 306
Décimal = 891 Décimal = 774

7. Hexadécimal = D7 8 Hexadécimal = 2C0
Décimal = 215 Décimal = 704

). Hexadécimal = 17B7 10. Hexadécimal = 87E
Décimal = 6071 Décimal = 2174
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